CREATIVE MATH. & INF. Online version at http://creative-mathematics.ubm.ro/ 17 (2008), No. 3, 333 - 338 Print Edition: ISSN 1584 - 286X Online Edition: ISSN 1843 - 441X

Dedicated to Professor Iulian Coroian on the occasion of his 70th anniversary

A modified Seidel method for calculating the fixed points of contractive mappings

ADRIAN CARABINEANU

ABSTRACT. For calculating the fixed point of a contractive mapping $\mathbf{f} = (f_1, f_2, ..., f_m) : \Omega \to \Omega$, $\Omega \in \mathbf{R}^m$ we employ a modified Seidel successive approximations scheme:

$$x_{\pi(k)}^{(n)} = f_{\pi(k)} \left(\widetilde{x}_1^{(n,k)}, ..., \widetilde{x}_{k-1}^{(n,k)}, \widetilde{x}_k^{(n,k)}, ..., \widetilde{x}_m^{(n,k)} \right),$$

where

$$\tilde{x}_{l}^{(n,k)} = \begin{cases} x_{l}^{(n)}, \, if \, l = \pi(s) \, and \, s < k, \\ x_{l}^{(n-1)}, \, if \, l = \pi(s) \, and \, s \ge k \end{cases}$$

We present a strategy to find the permutation π in order to accelerate the iterative processus.

1. INTRODUCTION

Definition. The function $\mathbf{f} = (f_1, f_2, ..., f_m) : \Omega \to \Omega, \ \Omega \in \mathbf{R}^m$ is a contractive mapping if there exists a constant $c \in (0, 1)$ such that

$$\|\mathbf{f}(\mathbf{x}) - \mathbf{f}(\mathbf{y})\| \le c \|\mathbf{x} - \mathbf{y}\|, \ \forall \mathbf{x}, \mathbf{y} \in \Omega,$$
(1.1)

We consider on \mathbb{R}^m the norm

$$\|\mathbf{x}\| = \|(x_1, x_2, ..., x_m)\| = |x_1| + |x_1| + ... + |x_1|.$$
(1.2)

Definition. $\mathbf{x} \in \Omega$ is a fixed point of the function \mathbf{f} if $\mathbf{f}(\mathbf{x}) = \mathbf{x}$. We have the following theorem concerning the contraction mappings:

Theorem 1.1. If $\Omega \in \mathbf{R}^m$ is a closed set and $\mathbf{f} : \Omega \to \Omega$, is a contractive mapping, then it has a unique fixed point \mathbf{x} which can be obtained by means of the successive approximations method starting from an initial approximation $\mathbf{x}^{(0)}$. Hence $\mathbf{x} = \lim_{n \to \infty} \mathbf{x}^{(n)}$ where $\mathbf{x}^{(n)} = \mathbf{f}(\mathbf{x}^{(n-1)})$, n = 1, 2, 3, ...

2. The modified Seidel's method

First of all we have to notice that generally, when we compute $x_k^{(n)}$ the components $x_1^{(n)}, ..., x_{k-1}^{(n)}$ are already calculated. This observation suggests the following formula, due to Seidel, [3], [4] for calculating the successive approximations:

$$x_k^{(n)} = f_k\left(x_1^{(n)}, \dots, x_{k-1}^{(n)}, x_k^{(n-1)}, \dots, x_m^{(n-1)}\right), \ k = 2, \dots, m.$$
(2.3)

Received: 16.10.2008. In revised form: 23.03.2009. Accepted: 11.05.2009.

²⁰⁰⁰ Mathematics Subject Classification. 47J25, 65H10.

Key words and phrases. Contractive mapping, Hammerstein equation, discretization, modified Seidel method, iterations.

Adrian Carabineanu

However it is not obligatory (in the framework of the n-th iteration) to calculate first $x_1^{(n)}$, then $x_2^{(n)}$ and so on; we may change the order. For instance, for an arbitrary permutation $\pi : \{1, 2, ..., m\} \rightarrow \{1, 2, ..., m\}$, we can calculate first $x_{\pi(1)}^{(n)}$, then $x_{\pi(2)}^{(n)}$ (taking into account that $x_{\pi(1)}^{(n)}$ is already calculated) and so on, i.e.

$$x_{\pi(k)}^{(n)} = f_{\pi(k)} \left(\widetilde{x}_1^{(n,k)}, ..., \widetilde{x}_{k-1}^{(n,k)}, \widetilde{x}_k^{(n,k)}, ..., \widetilde{x}_m^{(n,k)} \right),$$
(2.4)

where

$$\widetilde{x}_{l}^{(n,k)} = \begin{cases} x_{l}^{(n)}, \ if \ l = \pi(s) \ and \ s < k, \\ x_{l}^{(n-1)}, \ if \ l = \pi(s) \ and \ s \ge k. \end{cases}$$
(2.5)

Our aim is to find the permutation π in order to accelerate the iterative processus.

3. DISCRETIZED HAMMERSTEIN INTEGRAL EQUATIONS

We consider the Hammerstein integral equation

$$x(t) = \int_{a}^{b} K(t,s) f(s, x(s)) ds, \ t \in [a,b].$$
(3.6)

In order to discretize this equation we employ Nyström's method , considering the numeric integration scheme

$$\sum_{j=1}^{m} w_j x\left(t_j\right) \approx \int_a^b x\left(s\right) ds.$$
(3.7)

By means of this scheme, from the integral equation (3.6) we get the algebraic system

$$x(t_i) = \sum_{j=1}^{m} w_j K(t_i, t_j) f(t_j, x(t_j)).$$
(3.8)

Denoting $x_j = x(t_j)$, $K_{ij} = w_j K(t_i, t_j)$, $f_j = f(t_j, \cdot)$, the system (3.8) becomes

$$x_{i} = \sum_{j=1}^{m} K_{ij} f_{j} (x_{j}).$$
(3.9)

Assuming that the mapping defined by (3.9) is a contraction, we consider (according to Seidel's modified method) the sequence of successive approximations

$$x_{\pi(j)}^{(n)} = \sum_{i=1}^{m} K_{\pi(j)j} f_i\left(\widetilde{x}_i^{(n,j)}\right).$$

In order to assess the difference between two consecutive approximations we calculate

$$\sum_{i=1}^{m} \left| x_{i}^{(n)} - x_{i}^{(n-1)} \right| = \sum_{j=1}^{m} \left| x_{\pi(j)}^{(n)} - x_{\pi(j)}^{(n-1)} \right| =$$
$$= \sum_{j=1}^{m} \left| \sum_{i=1}^{m} K_{\pi(j)\pi(i)} \left[f_{\pi(i)} \left(\widetilde{x}_{\pi(i)}^{(n,j)} \right) - f_{\pi(i)} \left(\widetilde{x}_{\pi(i)}^{(n-1,j)} \right) \right] \right| \le$$

A modified Seidel method for calculating the fixed points of contractive mappings

$$\leq \sum_{j=1}^{m} \left(\sum_{i=1}^{m} \left| K_{\pi(j)\pi(i)} \right| \right) \left| f_{\pi(i)} \left(\widetilde{x}_{\pi(i)}^{(n,j)} \right) - f_{\pi(i)} \left(\widetilde{x}_{\pi(i)}^{(n-1,j)} \right) \right|.$$
(3.10)

The relationship (3.10) is equivalent to

$$\begin{split} \sum_{i=1}^{m} \left| x_{i}^{(n)} - x_{i}^{(n-1)} \right| &= \sum_{j=1}^{m} \left| x_{\pi(j)}^{(n)} - x_{\pi(j)}^{(n-1)} \right| \leq \\ &\leq \sum_{j=1}^{m} \left(\sum_{i=1}^{m} \left| K_{\pi(j)\pi(i)} \right| \right) \left| f_{\pi(i)} \left(\tilde{x}_{\pi(i)}^{(n,j)} \right) - f_{\pi(i)} \left(\tilde{x}_{\pi(i)}^{(n-1,j)} \right) \right| = \\ &= \sum_{j=1}^{m} \left(\sum_{i=1}^{j-1} \left| K_{\pi(j)\pi(i)} \right| \left| f_{\pi(i)} \left(x_{\pi(i)}^{(n)} \right) - f_{\pi(i)} \left(x_{\pi(i)}^{(n-1)} \right) \right| \right| + \\ &+ \sum_{i=j}^{m} \left| K_{\pi(j)\pi(i)} \right| \left| f_{\pi(i)} \left(x_{\pi(i)}^{(n-1)} \right) - f_{\pi(i)} \left(x_{\pi(i)}^{(n-2)} \right) \right| \right) = \\ &= \sum_{j=1}^{m} \sum_{i=1}^{m} \left| K_{\pi(j)\pi(i)} \right| \left| f_{\pi(i)} \left(x_{\pi(i)}^{(n)} \right) - f_{\pi(i)} \left(x_{\pi(i)}^{(n-1)} \right) \right| + \\ &+ \sum_{j=1}^{m} \sum_{i=j}^{m} K_{\pi(j)\pi(i)} \left(\left| f_{\pi(i)} \left(x_{\pi(i)}^{(n-1)} \right) - f_{\pi(i)} \left(x_{\pi(i)}^{(n-2)} \right) \right| - \\ &- \left| f_{\pi(i)} \left(x_{\pi(i)}^{(n)} \right) - f_{\pi(i)} \left(x_{\pi(i)}^{(n-1)} \right) \right| \right) \end{split}$$

whence we deduce

$$\sum_{i=1}^{m} \left| x_{i}^{(n)} - x_{i}^{(n-1)} \right| \leq \sum_{j=1}^{m} \sum_{i=1}^{m} |K_{ji}| \left| f_{i} \left(x_{i}^{(n)} \right) - f_{i} \left(x_{i}^{(n-1)} \right) \right| + \\ + \sum_{j=1}^{m} \sqrt{\sum_{i=j}^{m} K_{\pi(j)\pi(i)}^{2}} \cdot \\ \frac{1}{\sum_{i=1}^{m} \left(\left| f_{\pi(i)} \left(x_{\pi(i)}^{(n-1)} \right) - f_{\pi(i)} \left(x_{\pi(i)}^{(n-2)} \right) \right| - \left| f_{\pi(i)} \left(x_{\pi(i)}^{(n)} \right) - f_{\pi(i)} \left(x_{\pi(i)}^{(n-1)} \right) \right| \right)^{2}}$$

$$\cdot \sqrt{\sum_{i=j}^{m} \left(\left| f_{\pi(i)} \left(x_{\pi(i)}^{(n-1)} \right) - f_{\pi(i)} \left(x_{\pi(i)}^{(n-2)} \right) \right| - \left| f_{\pi(i)} \left(x_{\pi(i)}^{(n)} \right) - f_{\pi(i)} \left(x_{\pi(i)}^{(n-1)} \right) \right| \right)^2}.$$
(3.11)

In order to minimize the assessment formula from the right hand side on of the relationship (3.11) we embrace the following selection strategy which leads in the end to the construction of the permutation π :

- π (1) is chosen such that

$$\sum_{i=1}^{m} K_{\pi(1)\pi(i)}^2 = \sum_{i=1}^{m} K_{\pi(1)i}^2 = \min_{j \in \{1, \dots, m\}} \sum_{i=1}^{m} K_{ji}^2,$$
(3.12)

- π (2) is chosen such that

m

$$\sum_{i=2}^{m} K_{\pi(2)\pi(i)}^2 = \sum_{i \in \{1,\dots,m\} \setminus \{\pi(1)\}} K_{\pi(2)i}^2 = \min_{j \in \{1,\dots,m\} \setminus \{\pi(1)\}} \sum_{i \in \{1,\dots,m\} \setminus \{\pi(1)\}} K_{ji}^2,$$
(3.13)

- $\pi\left(k\right),\;k=3,4,...,m$ is chosen such that

$$\sum_{i=k}^{m} K_{\pi(k)\pi(i)}^{2} = \sum_{i \in \{1,...,m\} \setminus \{\pi(1),\pi(2),...,\pi(k-1)\}} K_{\pi(k)i}^{2}$$
$$= \min_{j \in \{1,...,m\} \setminus \{\pi(1),\pi(2),...,\pi(k-1)\}} \sum_{i \in \{1,...,m\} \setminus \{\pi(1),\pi(2),...,\pi(k-1)\}} K_{ji}^{2}.$$
(3.14)

4. The selection procedure .

We achieve the selection procedure described above as follows: we consider the vector $\mathbf{A} = (A(1), A(2), ..., A(m))$ with $A(l) = \sum_{s=1}^{m} K_{ls}^2 + il$, $i = \sqrt{-1}$. We organize the vector \mathbf{A} as a heap [1] imposing Real(A(l)) < Real(A(2l)) si Real(A(l)) < Real(A(2l+1)) and we employ the following algorithm (written in pseudocode) for constructing the permutation π :

Procedure ConstructPermutation:

```
length \leftarrow m
k \leftarrow 1
While length > 0 do
\{BuildHeap(A) \\ \pi(k) = imag(A(1)) \\ p = 1
While p < length do
\{A(p) = A(p+1) - K^2_{\pi(k)p} \\ p = p+1\}
A(length) \leftarrow \infty
length \leftarrow length - 1
k \leftarrow m - length + 1\}
```

Another procedure deals with the initial values of ${\bf x}$ and ${\bf A}$: Procedure Initialization

For
$$l \leftarrow 1...m$$

 $\{x[l] \leftarrow 0; y[l] \leftarrow 1;$
 $error = \sum_{m=1}^{m} |x[l] - y(l)|;$
 $A(l) = \sum_{s=1}^{m} K_{ls}^{2} + il\}$

The last procedure deals with the computation of the fixed point Procedure **FixedPoint**

While $error > \varepsilon$ do {for l = 1...m{ $y[\pi(l)] \leftarrow x[\pi(l)]$ $x[\pi(l)] \leftarrow \sum_{j=1}^{m} K_{\pi(l)\pi(j)} f_{\pi(j)} (x_{\pi(j)})$ } $error \leftarrow \sum_{l=1}^{m} |x[l] - y(l)|;$ }

For using the modified Seidel successive approximation method for solving the algebraic system (which is assumed to be a contraction)

$$x_{i} = \sum_{j=1}^{m} K_{ij} f_{j}(x_{j}), \ i = 1, ..., m,$$
(4.15)

337

we utilize the following code

Initialization ConstructPermutation FixedPoint

5. APPLICATION



FIGURE 1. Comparison of the three methods

We shall consider the Hammerstein equation that appears in the study of the free-surface flow past a circular obstacle [2]

$$x(t) = \frac{\lambda}{\pi} \int_0^\pi \exp\left(-x(s)\right) \ln\left|\frac{\sin\frac{t+s}{2}}{\sin\frac{t-s}{2}}\right| (1+\sin s)\sin s ds.$$
(5.16)

Since we have an integrable logarithmic singularity, in order to isolate the singularity, we shall write the integral equation as follows

$$x(t) = \frac{\lambda}{\pi} \int_0^{\pi} \exp\left(-x(s)\right) \ln\left|\frac{(t-s)\sin\frac{t+s}{2}}{\sin\frac{t-s}{2}}\right| (1+\sin s)\sin s ds -$$

Adrian Carabineanu

$$-\frac{\lambda}{\pi} \int_{0}^{\pi} \left[\exp\left(-x\left(s\right)\right) \left(1+\sin s\right) \sin s - \exp\left(-x\left(t\right)\right) \left(1+\sin t\right) \sin t \right] \ln |t-s| \, ds - \frac{\lambda}{\pi} \exp\left(-x\left(t\right)\right) \left(1+\sin t\right) \sin t \int_{0}^{\pi} \ln |t-s| \, ds.$$

We consider on the segment $[0, \pi]$ a grid consisting of the nodes $\{t_0, t_1, ..., t_n\}$ with $t_i = \frac{i}{n}\pi$, i = 0, 1, ..., n. Employing the trapeziums formula

$$\int_{0}^{\pi} f(s) ds = \frac{\pi}{2n} \left[f(t_0) + 2 \sum_{i=1}^{n-1} f(t_i) + f(t_n) \right]$$

and taking into account that $\sin t_0 = \sin t_n = 0$, we obtain

$$x(t_i) = \sum_{j=1}^{n-1} K_{ij} \exp\left(-x(t_j)\right), i = 0, 1, ..., n,$$
(5.17)

with

$$K_{ij} = \frac{\lambda}{n} \ln \left| \frac{\sin \frac{t_i + t_j}{2}}{\sin \frac{t_i - t_j}{2}} \right| (1 + \sin t_j) \sin t_j, \ i \neq j,$$

$$K_{jj} = \lambda (1 + \sin t_j) \sin t_j \cdot \left[\frac{\ln |4 \sin^2 t_j (t_0 - t_j) (t_n - t_j)|}{2n} + \sum_{i=1, i \neq j}^{n-1} \frac{\ln |t_i - t_j|}{n} - \frac{\pi - t_j}{\pi} \ln (\pi - t_j) - \frac{t_j}{\pi} \ln t_j + 1 \right].$$

In [2] one demonstrates that for $\lambda = 1/2$, the mapping defined by (5.17) is a contraction

In Figure 1 we present by stars (*) the solution of the system obtained by the successive approximations method (19 iterations), by Seidel's method (6 iterations) and by the modified Seidel method (4 iterations). We used continuous lines for presenting the intermediate approximations.

Acknowledgement. We acknowledge the support of Romanian Academy through the Grant 117/2007-2008

References

- [1] Carabineanu, A., Data structures, (in Romanian), MatrixRom Publishers, Bucharest, 2006
- [2] Iuga, M. and Carabineanu, A., Numerical solutions of some Hammerstein -type equations which appear in the theory of cavitation, Bulletin of the Transilvania University of Braşov, 13 (48) (2006), 203-213
- [3] Păvăloiu, I., Introduction in the Theory of the Approximation of the Solutions of Equations, (in Romanian), Dacia Publishers, Cluj-Napoca, 1976
- [4] Rus, I. A., Principles and Applications of the Fixed Point Theory, (in Romanian), Dacia Publishers, Cluj-Napoca, 1978

UNIVERSITY OF BUCHAREST FACULTY OF MATHEMATICS AND COMPUTER SCIENCE STR ACADEMIEI 14 BUCHAREST, ROMANIA *E-mail address*: acara@fmi.unibuc.ro